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[image: ][image: ][image: ]
1. [image: ]
2. [image: ]

[image: ]3. [image: ]
4. 




5. [image: ]





[bookmark: _GoBack]6. [image: ]
[image: ]


image7.png




image8.png
Sports Your school wants to take out an ad in the paper
congratulating the basketball team on a successful season, as
shown at the right. The area of the photo will be half the area
of the entire ad. How wide will the border be?
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;base =34 in.
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x=12;/=36 cm; w=25cm
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2 + 241 = 3456; 48 in. by 72 in.

[2] Both parts answered correctly
[1] One part answered correctly

[0] Neither part answered correctly
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27.8in.; 35.85in.




image16.png
5in. by 7 in.; (x + 5)in. by (x + 7) in.
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Jx+5)x+7)=35,0r x>+ 12x—35=0





image18.png
Substitute 1 for a, 12 for b, and —35 for ¢; about 2.43 in.
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42 Redtulips 42 Yellow tulips
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Gardening You are planning a flower
garden consisting of three square plots
surrounded by a 1-ft border. The total area
of the garden and the border is 100 ft2.

What is the side length x of each square plot?
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The height of a triangle is 6x cm and the base is (3x + 10) cm. The area of the
triangle is 816 cm2. What are the dimensions of the base and height of the
triangle?
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‘The formula for finding the volume of a rectangular prism is V' = [wh. The
height h of a rectangular prism is 12 centimeters. The prism has a volume of
10,800 cubic centimeters. The prism’s length / is modeled by 3x centimeters
and its width w by (2x + 1) centimeters. What is the value of x? What are the
dimensions of the length and the width?
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The height of a triangle is 4x inches and the base is (5x + 1) inches. The area
of the triangle is 500 square inches. What are the dimensions of the base and
height of the triangle?
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The area of a rectangular television screen is 3456 in.*. The width of the screen
is 24 inches longer than the length. What is a quadratic equation that
represents the area of the screen? What are the dimensions of the screen?





9.5 Word Problem Stations 


 


 


Station 1


 


 


 


 


 


 


 


 


 


Station 2


 


 


 


Station 3


 


 


 


 


 


Station 4


 


 


 


 




9.5 Word Problem Stations      Station 1                   Station 2       Station 3           Station 4        

